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Conditions of appearance traumatic irreversible phenomena in case of an 
alternating voltage action are defined. The methodology of calculation of the effective 
and instantaneous current values through the human body during an appearance and a 
development of the irreversible phenomena is proposed. 
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∆Ihr(0)= (dih��� /dt)0∆t0. 
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(dih���/dt)k = f(Uh����k)), 
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Uh(Ih) = Uhvar(Ih) + Uh���(Ih),                                                (8) 

��Uhvar(Ih) = 40,7 ln(5 Ih/S) + 61,74, U����(Ih) = Zh��� (Ih) = exp(-0,294lnS + 7,59)⋅ Ih. 
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